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A OVEr d PEroD OF S HOUS, FACTOMY A PrODUCES 400 STEME0S. COMPLETE THE TaBLE
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Practice —Slope from a Table
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Find the rate of change on the following tables.
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4. Given the following graphs, make a table of values and find the rate of change.
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, -1y and {4, 23, make 3 table and determine the slope.
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5. Given the two points

Ir two hours & bus fravels 100 miles while in three hours 5 bus fravels 150 miles. Fill in the table, including what the

independent and dependent variables are for this situation. Find the slope and explain what it represents for this

situation,
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Answers:
1. m=-2
2. m=1
e =t
3. m= T
4. 3.m=-3 possibletable | 0| 4
1 1
2| -2
1 S
b.m= P possible table ol -3
4 2
8 1
5. m=1
2
a.
X Independent Yariable: number of hours
hours miles Cependent Variable: number of miles
2 100
- - _ = .
3 150 Slope= T=5I2|rn|las per hour
7. B
2
8. = -
=3

9. Answers willvary: possible answer

10. D
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